OREC %{TNo. SP650AF —1 1

N=" T Fna s

AINA H—F T —

SP650AF

LS TS -k
SP6 50AF 0325—AAAAA
«H Q)

Fig 1 N> ]s‘/l/inzlg .............. 1
Fig O BREREL « « 0 o e e e e e e e e e e e 5
Fi g 3 Ivva= :/% ............. 9
Fig 4 MEDHER « o o o o v v o oo v v v 19
Fig 5 :r_‘/c/“‘/g .............. 23
Fig 6 ToULEfR « « ¢ ¢ o v o o v o v v 24

N -1 v

20234 10H12H 31T



HPEEROFEARC DT

1. BPERRDEERLIC DT
COEP@RR( YU M) R EEBmBAlERN SBM SN TLE T,

2. B@mEDEASICDLT
PFFEOMBBEZLEDAND L, ZHEIDIERODHERDOEE UES(CELDT. HEREROISRES.
ma&. —BHEDOEFREZE,. SRS HARTZE0,

3. ERmRDIBRRDIRT
RUULESZTEHDIHFETERRUTEDXT,

4., BIEES(CDOULT
HRES(E. ROBCRO>TNET.

(1)

36~4251 Y~ (12x5. 50-6) HBRES EEREISHCTRES)
36 |F04%7 (12x5. 50-6) O00O0-00000
YRR E D EamES (BEmI—R)- BMzOd—R)
38 |7/RfJ)L (12x5. 50-6) OO0-0000-000-00
39 |/RAILRXR EAEER MR 89 -0O000-00000OO0
40 ["EBARILEM8x16 EEEEEE 83 -0000-000000
41 |[ABRILEM8x20
42 |"AFvhk (SW) M8

5. BBE@EXICDLT
B@mE. £ TCIACE1I -9 —TEEZIN VDR, TEXORSHER. BaEsS. Bfnk. HE%.
F(CEPmES(FRMEC. JRALIESL.

6 . ARSTEMEE R EDRDIRFEEAT
T2 EFEEm. ROUHERJT RILh. Fv bEF)DTEX(E, BRBIRKFEHTHEBNUET,

7. EERMCONT OS2 R - BRI >SS DFRR)
REMDTIL I 7y MNIFELRDT EZRLTNET,

OR A—LvIITSUR M SYEL IV UM
IA ISEKIZ7 TSk K I FIOD R
YB PEVITIUR R AEV IO
C HRAT DA
8. 5 —XRTIL——8
HmES LTS MmES LTS
89-9990-110-10 RAFL—(F—Lv% LYKCF) 89-9990-140-00 ATL—(VILR—)

89-9990-120-00

RIL—(F—Lwy KITAH)

89-9990-190-00

RIL—(F—Lvy JL—)

89-9990-130-00

AFL—(F—Lvs TIL—)

89-9990-200-00

RIL—(TF—DF75)—V)

89-9990-240-00

AIL—(T5v%)

89-9990-270-00

RATL—(N\—F=yH51)—)

89-9990-280-00

RTL— (o A3)




Fig.1-1 A\ FJLER No.SP650AF-11

20 [0202-73210 J7H—KD (¥ — 1
19 [89-2132-060002 REERITIEDHST) 6 2
18 [0314-71510 ETFEEDAY— 1
17 [89-2521-000050 ERIESHER 5 1
16 [89-1750-100002 INREE 010 1
15 |89-1711-060002 TREESE 6X13X1.0 3
14 |89-1561-100002 INBYUF Y M10 2
13 |89-1553-060002 UFvk M6(Fy7{t) 1
12 [89-1113-060452 NEARILNBT) M6X45 1
11 |0325-1140H INURLEHEL /N\— CMP h'uA4 1
10 |0314-10401 O—/\>K)J)L CMP 8 1
9 [0208-73600 INBIUS R M10(Av4) 1
8 |0208-73300 TEEE 10X26X2.3 1
7 |0208-71900 NURILETFRLAR 1
6 |0208-12710 INRJLERAFRILE 2
5 [0208-12500 BEELIN—R TS 1
4 10314-11100 NURILR Ry b 1
3 |0208-10320 +FFT7—LCMP 1
2 [0314-10601 \VERILEEHRCMP B 1
1 [83-1210-425-00 L/x—iEY 10 1
&S HamES B & 4 [k g &

-1-




Fig.1-2 1\ FJLER

No.SP650AF-11

21 |89-1713-060002 EHES 6X18X1.6 1
20 [89-1711-080002 EHES 8X18X1.6 2
19 |89-1561-080002 INYUF v M8 1
18 [89-1543-080002 INBYFRAFYRESW) M8 1
17 [89-1541-060002 NAFTYRSW) M6 1
16 [89-1144-060122 +F U RARILMPW.SW)M6X12 3
15 [83-1711-426-00 Lx—iBY 12 1
14 |83-1515-177-00 Ty aFyk 6 1
13 |0287-12600 RRRLIN—RATYL Y 1
12 |0287-12500 f#Zf&L /\—CMP 1
11 |0287-12300 F1To342F CMP 1
10 [0229-74300 JLxyvT o4 1
9 |0314-74200 JAN—HAR 1
8 [0314-71910 EITIIVFIANV— 1
7 [0319-71100 AAYRILT A —(K) 1
6 [0319-20700 E/GRRMYTIANY—/\—F R (K) 1
5 [0229-13100 EOL L20 2
4 |0314-1080H FT95VFL/N— CMP h'Ur4 1
3 |0208-12600 HIYFLIN—RTYH 1
2 |0208-12111 avkA—)LAARIL B 1
89-1812-080002 T EEE8 1 |RAvFELED
1 [0325-72500 E/GRAMYTRAYF 1
&= H am&ES B & 4 [k g &

-2-

KA




Fig.1-3 1\ FJLER

No.SP650AF-11

KA

21 |[89-2181-060142 EEEE Y 6X14 1
20 [89-2132-060002 REERITIESDHST) 6 1
19 [89-1750-080002 INREE 8 1
18 [89-1713-060002 EHES 6X18X1.6 1
17 [89-1711-080002 EHES 8X18X1.6 2
16 [89-1711-060002 TERES 6X13X1.0 1
15 [89-1551-060002 UFvk M6 1
14 [83-1493-198-00 Urvk M6(Av%) 1
13 [83-1310-429-00 Lx—iEY 6 2
12 [83-1210-484-00 BfE/\K)L M8 x 20 1
11 [0314-71510 T TFEEDAY— 1
10 [0229-11500 N JVERAS 1
9 [0314-10901 NRILETFERAL/N— CMP B 1
8 [0229-10711 TuIN—/N\UR LT B 1
0208-10630-C NURILG) T 1 |JUyTDH
7 |0314-10701 7yIN—/\UKJL CMP B 1
6 |0208-73700 NARILMIT-SW Av4)M6X30 3
5 0208-13100 259F LI N—EHCMP 1
4 [0208-09910 =P 6
3 [0208-09700 PRI LA F— 3
2 [0208-03300 H5—D 3
1 [80-1515-262-00 T—LF)vT (8) 1
&S HamES B & 4 [k & &

-3-




Fig.1-4 1\ FJLER

No.SP650AF-11

KA

25 [89-2521-000060

EEFSHER 6

24 [89-2181-060162

FEEEY 6X16

23 [89-2132-060002

REERITIESDST) 6

22 [89-1713-060002

SEES 6X18X1.6

21 [89-1711-080002

SEES 8X18X1.6

20 [89-1561-080002

INYUF YR M8

19 189-1551-060002

UJFvhk M6

18 |89-1135-060142

AR ILNIT-SWIM6X14

17 189-1111-060552

NAEMRILE M6X55

16 |83-1210-425-00

L/A—1EY 10

15 |80-1020-263-00

arkO—J)LLNN—BAR TS

14 10287-70200

AR—H— 8x%x10

13 ]0287-70100

EELIN—RTYLH

12 10229-71800

U BR—RT)H

—_—_l—]—m_—m ] —__m | —_m == == === = = =N === =N

11 [0314-71800 FAT7959F)AN—
10 [0314-71700 EFEIDAY—

9 [0314-71610 ZRIA N —

8 |0314-71410 MDA Vv—

7 0229-11600 WS EREEL/N—

6 [0229-11100 FroUHAK CMP

5 [0314-10501 SK)L/NURJL CMP H
4 [0216-10400 Oy L /\—

3 [0208-11710 Fr L /N\— CMP

2 [0208-11300 Y 7—., B CMP

1 ]0208-11200 Y 7—.L. A CMP
&S HamES B & 4 [k g &

—4-




Fig.2—1 EREhES No.SP650AF-11

KA

10 [89-6512-035074 Fr—> #35-74L 1
9 [89-5221-020000 0')> % P20 2
8 [89-1135-060402 FNARILMTT-SWIM6EX40 2
7 [83-1020-361-00 A5 AR Ty — 15X24X1.0 2
6 |0208-71200 A5 ARy ¥— DC 2
5 [0208-32420 FARZ—3 L 2
4 [0208-32110 EOL L7172 1
3 [0208-31911 RSATFz——RX 7ok H 1
2 [0208-31821 RSATFz—4—RX 4> CMP H 1
1 [0208-31700 RSAJ&Eh11 T AT vk 2
&S HamES B & 4 [k g &

-5-




Fig.2—-2 EREhER No.SP650AF-11

KA

Fr——RX LN
Fig2-30®®Q@IWDW vt 4E/&

—
—

0229-39303 RINAOHEEFASSY S L—

—y
o

89-5121-122207(# 4 )L —)JL UE 12.22.07

89-3510-012200(DUT w2 12.20

89-2521-000100(E&! iE&HEF 10

89-1711-120002[FEL 12X21X2.3

83-1515-112-00 (7S AR JLFSW, AV 4)M6 X 14

83-1020-148-00|;XABARYTHRA  M6X14

0202-32800 AZAR—)L 19 2{8/&

0208-32314 BISRFHTRCMP )L/

0319-31104 RSAJEa7RILE—CMP <)L/N

—IN|W|A~|OI|O|J]|0|©

0208-03700 KSAJ%h B

i
i

BmES -

]|
3

" %




Fig.2-3 EXEhER N0.SP650AF-11

KA~

o N Fr——RT LN

20 |0229-39303 RINAHYHEEHFASSY JL 1 DOEONHOBE, HME/E
19 [0229-39104 Fr—2—RASSY )L/ 1 |4@/&

18 0314-71410 NEFEDA Vv — 1

17 [89-5230-080000[> — )LD v v— 8 1

16 [89-5222-060000[{01J> 4 G60 1

15 |89-2521-000100|EZ&! (L sHEF 10 1

14 |89-2181-060142|FFEE>, 6X14 1

13 |89-2132-060002|RE (3R [T IEDHFT) 6 1

12 |89-1711-120002|F#EE 12X21X2.3 1

11 |89-1541-060002 |7/ F v F(SW) M6 3

10 [83-1515-112-00(7<FARIJLFSW, AY4)M6 X 14 4

9 [0229-30600 BiHA ANH/N— I REES

8 |0229-30403 ARINADHEE JL— 1 |ME/E

7 |0208-72700 7FNARJLMSWOR).PWIMEX12 1

6 |0287-32000 AF—)ILEx—tEyrGx18MmHiLx4)| 1 |4EtYk)

5 [0202-32800 AR —)L 19 1 |2@8/&

4 ]0208-32500 WERBT—LRAT )Y 1

3 10208-32204 MERETAV—T—L LN 1

2 |0208-31124 RERFEERCMP LN 1

1 [0208-31000 INBIUF Y MB(F Ay T Av4) 1
BE B & BB B & 4 [k g &




Fig.2—-4 EREhES No.SP650AF-11

KA

¥3¥)4,5,6,813,16[XEHEIASSY(0229-39500) TH vy MEFELEYET,

19 |89-6514-025072 Fr—> #25H-72L 1

18 [89-5121-122207 A4 IL—)L UE 12.22.07 1

17 |89-3511-015100 DUJw a1 15.10.23F 1

16 Ik 6 4 [3%E)
15 [89-3115-060034 A7F1)24 6003 2RS 1

14 [89-3115-060014 A7F1)24 6001 2RS 2

13 EhFEIE&HER 12 1 [X5F)
12 |89-1135-060182 FNARILMIT-SW)M6X18 3

11 |89-1135-060122 FNARILNIT-SW)M6X12 1

10 [83-1020-361-00 AZART Y — 15X24X1.0 1

9 [0229-34200 Z4 )L — )L MUD 15X30X10 1

8 AFZAR Ty y— 12X55%1.0 1 [X5F)
7 [0229-30904 Fr——RAT7 Ik CMP )L\ 1

6 IR Py 4 |XE)
5 33TR7a4 vk 1 [%E)
4 E 1 [%E)
3 |0208-32700 BANF—I\F 1

2 |0208-30324 Fr—4—AA> CMP )L\ 1

1 [0208-30120 12TR7A45 vk 1
&S HamES B & 4 [k g &

-8-




No.SP650AF-11

Wi aER

—
-
—

Fig.3—1

He
HE
| AI..IMﬂ
¥ =
o
=
O
<
m R
> ===y
0|SITIK| | o
AOORU
(PN
LN | =
ﬂ44_¢nu
ININIS G
ATE NN K
N |
AEIEIN2
2\._/._/‘\k|_/
illy
oo
2(? HE
0%%00 o
SITIT|S|5| ™
3ISIRNK 5
| |<F|O] | |
D|™—|—]|00| 00
| I N [=](=]
DMV M|N|AN
Ol|oo|o|O|O




No.SP650AF-11

¢///;\./( .///'7,\ 7 "‘7;
(O 7=ty
/.///

&
22

FTEEA

14 [89-2150-050180 F— (M #L)5X18 1
13 |89-1750-060002 INTEE $6 1
12 |89-1156-050102 + 7T AR IR IOM5X10 (SW) 1
11 |89-1144-060253 +=F gt <AL FPW.SWIM6EX25 3
10 [83-1761-126-00 25K ILMBTIMEX18 (Av4) 1
9 [83-1482-311-00 TFREEE 6.5X22X3.2 1
8 |83-1140-682-10 AA4ILEE 16 2
7 |83-1020-198-00 A vk M6 3
6 |83-1020-148-00 NV T A~ M6X14 3
5 [0229-06100 EFETAV—HZ 1
4 10229-01800 EHFRLRT)Y 1
3 |0287-01100 FIOT— LI 3
2 |0208-40120 FYRYHYRT—1)— 1
1 [80-1515-186-00 JAv—#z 2
&= H @m&ES B & 4 [k g &

-10-




Fig.3-3 2w a> R

No.SP650AF-11

KA

12 |89-5230-080000 — )LDy — 8 1
11 |89-5230-060000 — )LDy r— 6 1
10 [89-5121-122207 A4 IL—)L UE 12.22.07 1
9 [89-3511-012100 DUJw a1 12.10.20F 2
8 |89-3511-010100 DUJw 21 10.10.18F 1
7 |89-1511-060042 NEFYE M6 1
6 |89-1251-080122 EEAH /N REARILE M8X12 1
5 [89-1113-060202 7NARILEBT) M6X20 1
4 |83-1515-148-00 INAZYTRA S M6X22 6
3 |83-1020-148-00 NAZYTEA S M6X14 1
2 |0287-02400 Sylavsyr—Rx R 1
1 [0207-06100 I7IJ)—H— 1
&5 = B o@m £ EE & =

-11-




Fig.3-4 S a3 E No.SP650AF-11

KA

11 [89-2511-000120 g IEHER 12 1
10 [89-2111-030012 ATYTEY 3X12 1
9 [83-1020-355-00 A5 ART Y v— 12X24X1.0 1
8 |83-1020-351-00 A5 ART v — 10X18X1.0 1
7 ]0229-03600 Hif13-32-38TX7 1
6 |0229-00900 FHI6T XV 1
5 10229-00700 FEh 1
4 0208-71100 AS5ART Y v— 12X18X1.0 3
3 [0208-03400 ORI A—D 8 1
2 |0208-01820 L I8T4—5 CMP 1
1 [0208-01010 11—17T¥¥% 1
&S M & EE B & & &% & =

-12-




Fig.3-5 Swia iR No.SP650AF-11

KA

10 [89-3111-060054 A7 6005 1
9 [89-2512-000470 SN EHIE&HER 47 1
8 |89-2511-000250 g IEHER 25 1
7  [89-2150-050150 F—(f#L)5X15 1
6 |83-1020-355-00 ZAS5ART Y v— 12X24X1.0 1
5 [0287-02700 RS54 D 1
4 |0287-01400 HI38TXV B 1
3 [0229-00800 ETIZVFIITEY 1
2 |0208-01910 959FI7+—% CMP 1
1 [0208-00500 30TARNLEY 1
&= B0 aEE H & 4% &% & =




Fig.3-6 S a iR No.SP650AF-11

KA

8 |89-5230-080000 — )LDy — 8 1

7 [89-5222-045000 0 % G45 1

6 [89-2111-030012 ATYITEY 3X12 1

5 [89-1251-080122 EEAHINEE R AR LS M8X12 1

4 |83-1020-148-00 NAZYTEA S M6X14 4

3 [0287-01700 ISP 7 — LBl 1

2 |0208-03100 Syahr—X J4 1

1 [0208-01600 FHYI#7—.L CMP 1
&5 = B & % EE & =

-14-



Fig.3-7 Syl a3 Ep

No.SP650AF-11

KA

8 |0314-03000 Sylasr—RXIAR B ASSY 1

7 89-5222-060000 0!)> % G60 1

6 [89-1750-080002 INREE 68 4

5 |0314-70100 INBY AR JLIRMBX22(8T Aw4) 4

4 0314-10301 N\VERILEEEECMP B 1

3 |0229-05600 h5— R 2

2 |0229-03400 I7—J)—H%— 1

1 [0314-00200 Sy avh—XJ4% B 1
&= HaES B & 4% EE & =

-15-




Fig.3-8 2w a> il

No.SP650AF-11

12 [89-3111-069074 7)o 6907 1
11 [89-3111-160054 7)o 16005 1
10 [89-3115-060014 ~7)4 6001 2RS 1
9 [89-2512-000280 e FH1EHER 28 1
8 |89-2511-000120 g IEHER 12 1
7 [89-2511-000100 g IEHER 10 1
6 |0313-05400 19T RXN)LFY 1
5 |0313-05200 34T AR LEYA 1
4 0313-05300 34T AR JLEXVB 1
3 |0313-00100 Iy F 1
2 10229-05500 E#RyYg R 1
1 [0208-00210 Htdm A 1
&5 B a&ES B & (R li& =




Fig.3-9 2w a>

No.SP650AF-11

KA

8 [89-5221-010001 0')>4 P10A 1

7 [89-5121-223808 Z44 )L —)L UE 22.38.08 1

6 [89-5121-174008 Z44IL<—)L UE 17.40.08 1

5 [89-3115-060034 ~7)4 6003 2RS 1

4 [89-3111-062034 A7) 6203 1

3 |89-2512-000400 e 1E&HER 40 2

2 10229-02600 Htdh B 1

1 [0229-02500 20T RN )Ly 1
&= B a&EE B & % EE & =

-17-




Fig.3-10 3w a i

No.SP650AF-11

KA

8 [89-5130-081404 Z44 )L —)L KE 08.14.04 3
7 [89-5125-173507 Z4IL—IL(TwY)) UE 17.35.07 1

6 [89-5121-122207 A4 IL—)L UE 12.22.07 1

5 [89-3511-012100 DUJw 21 12.10.20F 2

4 [89-3115-062024 74 6202 2RS 1

3 [89-3111-062024 R7) 6202 1

2 |89-2512-000350 e FH1E&HER 35 2

1 |0202-00800 Syiavh—R L 1
&= = B & & EE & =

-18-




Fig.4—1 N|ERER

No.SP650AF-11

R~

12 [89-2132-060002 RE #RITIEST) 6 2
11 |0202-73210 Y7 H—FJ)Av— 1
10 [89-1711-100002 EREL 10X 18X 1.6 2
9 [89-2132-100002 RE> (3RIT1E&H1H) 10 1
8 [89-2181-100902 EFEED 10%x90 1
7 |89-1390-060182 RERILE M6 X 18(AA—F) 4
6 |89-1581-060042 FEEfTR vk M6 4
5 [0202-73100 ¥ H—FREL/ % 1
4 10229-63200 75w N—RZ 2
3 0229-63100 AR IT5vIN— 1
2 10229-62200 2EXTT—7 10X 10 X L220 1
1 [0314-50104 JAH—K CMP <)L\ 1
E5 HaEE B & 4 E% " &

-19-




Fig.4-2 NHERER No.SP650AF-11

KA~

0339-40501 Fa 0 F7—LB ASSY H @11E @ 11E
0339-40401 F230F7—LA ASSY H @ 1A @ 21

21 [0339-70900 VAL, SA-23.1 1

20 [89-3510-018200 DUDwi a2 18.20 1

19 [89-3510-012120 DUDwi a2 1212 2

18 |89-3115-060014 ~A71)24 6001 2RS 2

17 |89-2512-000280 NEHIESHER 28 2

16 |89-2511-000120 R LE IR 12 2

15 [89-2132-060002 RE RITIES ) 6 1

14 [89-1750-080002 INREEE ¢8 1

13 [89-1543-080002 INEYFRAFYRESW) M8 1

12 [89-1144-060122 +F 5t AR ILSPW.SWIMBX12 2

11 |83-1830-353-00 2S5 ARy v— 10X26X1.0 1

10 |83-1819-367-00 2S5 ARy — 18X26X1.0 1

9 10229-40801 N)LhAN— B 1

8 [0314-71800 FAT79059F AN — 1

7 |0208-41200 FiavT—1)— 2

6 [0208-41100 AN)UBEZ BRIV 1

5 |0208-40720 N)LRZ 1

4 |0208-40531 Fia3 F7—., B CMP H 1

3 |0208-40431 Fia F7—.L A CMP H 1

2 |0208-40310 Toia Bl 1

1 [0208-40221 FA427T—1)— B 1
TS B mES B & 4 {[EE= g &

-20-




Fig.4-3 N|ERER No.SP650AF-11

0325-81100 SP2Y)—F A7 -BftRIL YR @eEWBEYrESR
0325-82100 SP2)—+ 47+ vk50 @BHBE®WHBtYrESD
16 [89-1750-100002 INREE $10 2
15 [0208-29100 ¥ JL—L ASSY 1
14 [89-1611-100042 INBIFRAF YR MI10 1
13 |89-1611-080042 INBURAF Vs M8 1
12 [89-1581-060042 EAEF Vs M6 6
11 [89-1137-060152 FNAERILEPW) M6X15 6
10 [83-1035-323-00 TEEL 10X32X3.2 2
9 |0325-74300 D )—F AKX} ITE 1 |EykZEEFERLL
8 |0325-6020H O—%1)—T4AJCMP H2 A43 2
7 [0314-60104 O—4Y)—H/8\— CMP LN 1
6 |0305-70900 FA7EFRILE 4
5 |0305-70500 >4 8
4 [0208-73200 Uy tMI10(Fvy T4 #IB AvY) 6 | FAT7EhIZ2ME, BnftRILRZ4{E
3 |0208-73110 J5wN—Z 2
2 |0208-70110 75w /\— 2
1 [80-1020-719-00 NAZYT A/~ M8X18 4
E5 WM& BB B & 4 &% " &

-21-




Fig.4-4 X HRER No.SP650AF-11

14 |0208-71100 AZART Y — 12X18X1.0 4
13 |0208-50910 40T7A4K)LXY¥ CMP 2
12 |0208-50810 40T FHA47FY 2
11 [0208-50420 +T478 B 1
10 [0208-50330 FAT8 A 1
9 [0208-3102H NESHEEIL—LCMP Ui 1
8 |0208-20210 FA47xXvYIL—L B 1
7 0208-20110 FA7XNVYIL—L A 1
6 |89-5121-153007 Z44 )L —)L UE 15.30.07 2
5 |89-5121-122507 A4 )L —)L UE 12.25.07 1
4 |89-3115-060024 75 6002 2RS 2
3 |89-3115-060014 A7 6001 2RS 6
2 |83-1035-148-00 NV TR~ M6X18 6
1 [83-1020-148-00 NV T A~ M6X14 3

&S HamES B & 4 [k g &

22—




No.SP650AF-11

‘
[
u

18 |89-1714-060002 EREL 6.5X13X1.6 4
17 |89-1135-060182 AR ILNIT-SWM6EX18 2
16 [89-1113-061052 NAMRILEBT) M6X105 4
15 [89-1750-060002 INREE $6 4
14 [0208-03300 $H15—D 4
13 [0208-09910 R =N 8
12 [0208-09700 MHiRI LA F— 4
11 |0305-02300 22vFESLC0MP 1
10 [0339-04000 F—ZARTF)o5 vk 1 | R7PYLTFE
e ~BRADL04098
. 0305-04200 VNPV 2 |0305-04310& 1y R E#4Y
. o BRADMO04099 ~
0327-04200 VTN 2 10327-04400&ty R E 5 Y
. g ~BRADL04098
. 0305-04310 HyIT)T T L 1 10305-04200& R E 2454
. g BRADMO04099 ~
0327-04400 HyITVoT T L 1 0327204200t R E f245Y
7 [0313-02500 E/GHERY {1+ CMP 1
6 |0313-09800 ) {1+ X F—CMP 2
5 [0319-31200 I 458K 1
4 [89-1713-060002 EREL 6X18X1.6 2
3 [0319-70500 NATNATRILE(SWPW)MS X 20444t | 2
2 [89-1135-060302 AR ILMIT-SWM6EX30 8
1 [89-2512-000420 SNEALEDE 42 1
EE H o T&F =S B & A EE g =

-23-




Fig.6—1 SANJLER No.SP650AF-11

KA

gy ha— LI ~YL (F—Lv7)

0325-73100

A FE
IFZU—FILAY MURRICED
EZTHTBUT Falh B4
NaETIIL

fRim& 750 1 =2 i TR~
0305-73200 omu;isﬂgﬁuwam 0287-75300

IUTUOTER, MEANDIIRRED
FEEEDEHBIET . onareso0

T AL MEET L

FPREEEIGTEOEMALD LELWTFAL.
WEFED S ITFPECASHLEY.,

TATEE~—T
83-1484-921-00

J777OREC

ORECH =< — 27 B07

0325-72300 A (R SP
0325-72400

STON/-BLONRIANTT.
EEOR. WERCLSTTONI—

OEZON. HENWERRED L.
AR RN L THRR L.

DRERL

S ==
<~ BATT, APE B m-ﬂllh A ER

- BOSENTAMLTT K ~ Con/-BL REOREBIC LD
o Y SN [FmcmETY. |87 MER) ST |A-BE - RORSCMEESL
% [‘ ) [eeore. BE|gEFoL. wnE |amTy.
ik LT

T~ EWDHL T | SRR EEDS |, PR,
T, [meszEpoz (muTAREL -
B4, XRBMTY. TFaL. -

BE S ~ULSP-A
0287-74100

el 5 ~LSP-F
0325-73300

EmTseTan|

FPEEHEIC £ DMARLD LELEFALL. A N e
EIREDT 1 TTERELASALET. MR NN
=, 1 B

E eAmBeRE

/. Tttty By

ENoREL *

BHzOT SN

HTET HE

t208-51200 LS | ReN

FA T2 EH~—2 (FR%O)
83-1484-921-00 0209-90200

~24-



20164F3H 19H
20224F7H 15 H
2022F-12H1H

20234-10H 12 H

AT
ET9
&ZET10

WET11

P19 AW

P2 AW



	Button1: 
	Button2: 
	Button3: 
	Button4: 
	Button5: 
	Button6: 
	Button7: 


